

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SMM 3515P

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	REAR WINDSCREEN (CONSISTENT)	SHATTERED	1,108.20	1,108.20
1	REAR WINDSCREEN MOULDING (CONSISTENT)	NECESSARY	89.50	89.50
1	TAILGATE (CONSISTENT)	BADLY DENTED	862.50	862.50
1	TAILGATE OUTER GARNISH (CONSISTENT)	BROKEN	244.30	244.30
1	TAILGATE 'H' LOGO (CONSISTENT)	MISSING	38.00	38.00
1	TAILGATE 'FIT' EMBLEM (CONSISTENT)	NECESSARY	55.00	55.00
2	TAILGATE REFLECTORS @\$68.20 (CONSISTENT)	CRACKED	136.40	136.40
1	TAILGATE INNER LOCK (CONSISTENT)	TWISTED	162.80	162.80
1	TAILGATE INNER TRIM (CONSISTENT)	DEFORMED / TORN	282.30	282.30
1	TAILGATE WEATHERSTRIP (CONSISTENT)	TWISTED	109.40	109.40
2	TAILGATE INNER SIDE TOP GARNISHES @\$85.00 (CONSISTENT)	NOT NECESSARY	170.00	-
1	TAILGATE OUTER HANDLE SWITCH (CONSISTENT)	DAMAGED	155.20	155.20
1	TAILGATE REAR WIPER ARM (CONSISTENT)	BENT	104.30	104.30
1	TAILGATE REAR WIPER MOTOR (CONSISTENT)	BENT / JAMMED	485.50	485.50
1	TAILGATE REAR WIPER BLADE (CONSISTENT)	NOT NECESSARY	95.20	-
1	TAILGATE REAR WIPER ARM COVER (CONSISTENT)	CUT	32.00	32.00
1	REAR BUMPER (CONSISTENT)	DISTORTED	492.70	492.70
2	REAR BUMPER SIDE RETAINERS @\$25.50 (CONSISTENT)	BENT	51.00	51.00
1	REAR BUMPER LOWER BLACK MOULDING CENTRE (CONSISTENT)	CRACKED	108.00	108.00
2	REAR BUMPER LOWER BLACK SIDE MOULDINGS @ \$85.00 (CONSISTENT)	CRACKED	170.00	170.00
2	REAR BUMPER BRACKETS @\$50.00 (CONSISTENT)	NOT FITTED	100.00	-
2	TAILLAMPS @\$345.00 (CONSISTENT)	N/S CRACKED / O/S BROKEN	690.00	690.00
2	TAILLAMP HOUSING PANEL @\$208.00 (CONSISTENT)	N/S TO REPAIR SEE LABOUR / O/S DENTED	416.00	208.00
1	REAR END PANEL (CONSISTENT)	BADLY DENTED	349.20	349.20
1	REAR END PANEL TOP GARNISH (CONSISTENT)	TWISTED	145.80	145.80
1	REAR END PANEL ANTENNA SENSOR (CONSISTENT)	CRACKED	115.00	115.00

Report Ref No. CC4/ASM22008104/Upa3q2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR BUZZLE SENSOR (CONSISTENT)	CRACKED	60.80	60.80
2	REAR FENDERS @\$855.20 (CONSISTENT)	N/S TO REPAIR SEE LABOUR / O/S BUCKLED / CRACKED	1,710.40	855.20
2	REAR FENDER INNER TRIMS @\$266.50 (CONSISTENT)	DEFORMED / TORN	533.00	533.00
1	REAR FLOOR PANEL (CONSISTENT)	TO REPAIR SEE LABOUR	922.30	-
1	REAR FLOOR PANEL TOP BOARD (CONSISTENT)	WARPED	281.20	281.20
1	REAR FLOOR PANEL TOOLS SPONGE (CONSISTENT)	TORN	366.50	366.50
1	BONNET (CONSISTENT)	BUCKLED	681.00	681.00
2	BONNET HINGES @\$82.00 (CONSISTENT)	SERVICEABLE	164.00	-
1	BONNET INSULATOR (CONSISTENT)	DEFORMED / TORN	122.80	122.80
1	BONNET LOCK (CONSISTENT)	TWISTED	165.40	165.40
1	FRONT BUMPER (CONSISTENT)	DENTED / TORN	680.50	680.50
2	FRONT BUMPER SIDE RETAINERS @\$25.00 (CONSISTENT)	BENT	50.00	50.00
1	FRONT BUMPER BEAM (CONSISTENT)	BENT	298.20	298.20
1	FRONT BUMPER LOWER GARNISH (CONSISTENT)	DEFORMED / TWISTED	162.40	162.40
2	FRONT BUMPER FOG LAMP GARNISH @\$92.00 (CONSISTENT)	O/S TWISTED	184.00	92.00
1	FRONT GRILLE (CONSISTENT)	CRACKED	226.20	226.20
1	FRONT GRILLE 'H' LOGO (CONSISTENT)	NECESSARY	38.00	38.00
1	FRONT GRILLE CHROME MOULDING (CONSISTENT)	CRACKED	285.00	285.00
2	HEADLAMPS @\$780.00 (CONSISTENT)	CRACKED	1,560.00	1,560.00
2	HEADLAMP LOWER BRACKETS @\$45.00 (CONSISTENT)	O/S CRACKED	90.00	45.00
1	FRONT SUPPORT PANEL (CONSISTENT)	BENT / TWISTED	472.60	472.60
1	FRONT SUPPORT PANEL TOP GARNISH (CONSISTENT)	NOT NECESSARY	182.60	-
1	AIR-CON CONDENSER (CONSISTENT)	BENT / PUNCTURE	845.20	845.20
1	AIR-CON CONDENSER SIDE GARNISH (CONSISTENT)	TORN	162.60	162.60
1	RADIATOR (CONSISTENT)	SERVICEABLE	1,248.20	-
1	RADIATOR FAN ASSY (CONSISTENT)	NOT NECESSARY	485.00	-
2	FRONT FENDERS @\$362.00 (CONSISTENT)	TO REPAIR SEE LABOUR	724.00	-
	LESS 20% DISCOUNT		-3,894.04	-2,835.74

Report Ref No. CC4/ASM22008104/Upa3q2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
			15,576.16	11,342.96
	SPECIAL NETT ITEMS			
1	REAR WINDSCREEN SEALANT (SN) (CONSISTENT)	NECESSARY	50.00	40.00
1	REAR WINDSCREEN INNER SEAL (SN) (CONSISTENT)	NECESSARY	50.00	40.00
1	REAR WINDSCREEN SOLAR FILM (SN) (CONSISTENT)	NECESSARY	200.00	150.00
1	REAR LICENCE PLATE (SN) (CONSISTENT)	BENT	50.00	40.00
1	SET REAR BUMPER CLIPS (SN) (CONSISTENT)	NECESSARY	45.00	30.00
1	SET REAR BUMPER REVERSE SENSOR (SN) (CONSISTENT)	SHORTED	280.00	200.00
1	REAR END PANEL SEALANT (SN) (CONSISTENT)	NECESSARY	50.00	50.00
1	SET REAR FLOOR PANEL INSULATOR (SN) (CONSISTENT)	NOT NECESSARY	200.00	-
1	REAR FENDER GLASS SEALANT (SN) (CONSISTENT)	NECESSARY	50.00	40.00
1	SET REAR FENDER INNER TRIM CLIPS (SN) (CONSISTENT)	NECESSARY	40.00	40.00
1	SET TAILGATE INNER TRIM CLIPS (SN) (CONSISTENT)	NOT NECESSARY	40.00	-
1	FRONT LICENCE PLATE (SN) (CONSISTENT)	SCRATCHED	50.00	40.00
1	SET FRONT BUMPER CLIPS (SN) (CONSISTENT)	NECESSARY	40.00	30.00
			1,145.00	700.00
	<u>LABOUR</u>			
	TO CHECK WIRING.		80.00	30.00
	TO REMOVE & REINSTALL REAR WINDSCREEN.		150.00	120.00
	TO REMOVE & REFIX TAILGATE MECHANISM .		100.00	60.00
	TO REMOVE & REFIX REAR UPHOLSTERY .		120.00	80.00
	TO REMOVE & REFIX REAR FENDER GLASS .		120.00	80.00
	TO REMOVE & REFIX REAR EXHAUST .	NOT NECESSARY	100.00	-
	TO REMOVE & REFIX REVERSE SENSOR.		100.00	50.00
	TO REFILL AIR-CON GAS.		120.00	100.00
	TO SPRAY RUST PROOFING.		200.00	120.00
	LABOUR FOR PANEL BEATING ,WELDING & RENEW PARTS.INCLUSIVE OF THE REPAIR OF TAILLAMP HOUSING PANEL LH,REAR FENDERS LH,REAR FLOOR PANEL AND FRONT FENDERS .		3,000.00	2,000.00

Report Ref No. CC4/ASM22008104/Upa3q2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	SPRAY PAINTING.		2,500.00	1,800.00
			6,590.00	4,440.00
	GRAND TOTAL		23,311.16	16,482.96

RECOMMENDED COST OF LUMP SUM REPAIRS	13,000.00
(TO ITS PRE-ACCIDENT CONDITION)	

Report Ref No. CC4/ASM22008104/Upa3q2

CHUA KANG SENG

Licensed Appraiser